Ulkanbl
N
KoopauHaThl



« LLUTPpUX
« [leneHune
« LLIkana







Mepbl Beca

1 kr. = 1000 rp.
1 4.=100 kr.=100000 rp.
1T. =10 u. = 1000 «r.



EANHNLBI N3MEePEHNA BPEMEHMN

1 MUH. = 60 cek.
1 yac = 60 MUH.
1 cyTkKM = 24 4yaca



KoopanHaTHbIM Ny4 — 3TO YacCTb
NpsaMon, UMetoLLLIaa Ha4vano
OTCY€eTa, HanpaBneHne N 3agaHHbIN

eaAVNHNYHbIN OTPES3OK.
. A(1)
. B(2)
. C(?)
« A (?)



Onpenenun KoopanHaTtbl TOYEK




[TpoBepb cebs

A (1)
. B (2)
. E (4)
. C (5)
P (7)
« [ (8)



Bbipa3su:

« 3 MNUH. = ...CEK.

« 2 4, 33 MUH. = ....
1 T.2U4. = ..... KT,
« 3 KM 40 rp. = .....

« 5000 KI. =.....T.



